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Important Instructions for the Candidates :

1.

w

This Test Booklet contains 50 questions printed in English and
Hindi. Out of these, the candidate is required to answer any
40 questions. If a candidate answers more than 40 questions,
the first 40 answered questions will be considered for
evaluation.

When you are given the OMR Answer Sheet, fill in your
particulars on it carefully with blue/black ball point pen only.

Use only Blue/Black Ball Point Pen for marking responses.

The CODE for this Test Booklet is D. Make sure that the
CODE printed on the OMR Answer Sheet is the same as that
on this Test Booklet. Also ensure that your Test Booklet No.
and OMR Answer Sheet No. are exactly the same. In case of
discrepancy, the candidate should immediately report the
matter to the Invigilator for replacement of both the Test
Booklet and the OMR Answer Sheet. No claim in this regard
will be entertained after five minutes from the start of the
examination.

Before attempting the question paper kindly check that this
Test Booklet has total 28 pages and OMR Answer Sheet
consists of one sheet. At the start of the examination within
first five minutes, candidates are advised to ensure that all
pages of Test Booklet and OMR Answer Sheet are properly
printed and they are not damaged in any manner.

Each question has four answer options. Out of these four
options choose the MOST APPROPRIATE OPTION and
darken/blacken the corresponding circle on the OMR Answer
Sheet with a Blue/Black Ball Point Pen.

Five (5) marks will be given for each correct answer. One (1)
mark will be deducted for each incorrect answer. If more than
one circle is found darkened/blackened for a question, then it
will be considered as an incorrect answer. Unanswered
questions will be given no mark. P.T.O.
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326 EH/D (2)

1.  Which of the following Sociologists argued that Sociology helps in understanding the links and connections
between “personal troubles” and “social issues” ?

(1) Durkheim
(2) C.W.Mills
(3) Bourdieu
(4) Weber

2. Which programme of the Government of India directly targets at improving sex-ratio ?
(1) Widow Pension
(2) Pre-Natal Diagnostic Techniques (Regulation and Prevention of Misuse) Act
(3) Beti Bachao Beti Padhao
(4) Sukanya Samriddhi Yojana

3. Which of the following statements is true about Colonialism in India ?
(1) Parochialism gave birth to Colonialism in India.
(2) Colonialism gave birth to Nationalism in India.
(3) Urban poor were the main carriers of Nationalism in Colonial India.

(4) Capitalist economic changes in India were not related to Colonialism.

4.  Match the following terms (List-I) with their description (List-II) :

List-1 List-IT
(Terms) (Descriptions)
(A) Varna system ()] Process of adopting higher caste practices
(B) Scheduled Castes (I)  Four-fold division of society
(C) Sanskritisation (IIT)  Opposed to Hindu society
(D) Resistance Tribes (IV)  Recognised by Govt. of India Act, 1935

Choose the correct answer from the options given below :
1 (A)- @), (B)- D, (C) - (1), (D) - (IV)
(2) (A)-dD, (B) - 1), (C) - (@), (D) - AV)
(3) (A)-(aAV), (B) - (D), (C) - (D), (D) - (I1I)
4 (A)-dD, (B) - AV), (C) - (D), (D) - (1)
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1. Fwffad 7 & forg wmsmme 5 qeh foar for e safthTd quemi-Er R EETSe qg o st garsi
I Telell h1 G W HGE FAAT @ ?

(1) 3@

(2) sy, fiew
(3) L

(4) =R

2. Rd R % T sk o1 EteT e foftT-oTuTd § o A1 S 2
(1) fagardsm
(2) ST Aarireh Sferferat (qewiT =t ferf-rerm 37 framon) rferfram
(3) o SR A ugra
(4) GeR= T AT

3. fr=fefaa 8 @ H-a1 s g 3 SufavEe F I A w=i R 2
(1) HehidraTe 3 TRd § ufFHazETe @ 5= &= |
(2) SUERETE 5 R § UsgaTe st = feam |
(3) Shafrafreh wid # wredt e egae o Hed aTesh o |
(4) TR H YSTaTar i aie SU-asTaTe § dsifed Te o |
4. ARG v&t (F2ht-1) i 3o forawer (Feit-10) = a1 e i

-1 TE-11

() (Foraram)
(A) of T () 3= S ot TTeAl T SO ot Tfskar
(B)  3Fafe Saat (D) o7 o1 =R et | forse
(C) Eehdlentor (D g wwrst o foreht
(D) Sfaeht St (IV)  YRd TR AT, 1935 T WT=rar 9Te
=t faw T forepedt # € wE S -

(1 (A)- @, (B) - (1D, (C) - (1), (D) - (IV)
(2) (A)- (D, (B) - (), (C) - (1), (D) - (IV)
(3) (A)-(1V), (B) - D), (C) - (D), (D) - (1)
@) (A)- D, (B) - (IV), (C) - (D), (D) - (1)
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5. Which of the following are arguments given by Alfred Gell to explain the significance of market beyond its
economic function ?
(A) Layout of the market symbolises the hierarchical inter-group social relations of that region.
(B) Few goods are free in the market for groups lower in the hierarchy.
(C) Different social groups are located according to their position in the caste hierarchy and hierarchical
market system.

(D) Interactions between tribals and non-tribal traders are based on social inequalities.

Choose the correct answer from the options given below :
(1) (A), (B) and (D) only

(2) (A) and (C) only

(3) (A), (B), (C) and (D)

4) (A), (C) and (D) only

6.  Which of the following principles are applied to maintain caste based restrictions ?
(A) Birth
(B) Marriage
(C) Food Sharing
(D) Occupation
Choose the correct answer from the options given below :
(1) (A), (B) and (D) only
(2) (A), (B)and (C) only
(3) (A), (B), (C) and (D)
(4) (B), (C) and (D) only

7.  How has national development impacted tribal development ?
(A) Tribal areas located in mineral rich and forest covered parts of the country paid a disproportionately
high price for development.
(B) Large dams, factories and mines were built in Nehruvian era.
(C) Tribals were dispossessed of their land for setting up hydroelectric power plants.
(D) These developments benefitted the tribes at the expense of others.

Choose the correct answer from the options given below :
(1) (A), (B), (C) and (D)
(2) (A), (C)and (D) only
(3) (A), (B) and (C) only
(4) (B), (C)and (D) only
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5.

TS 3 7o e & G 36 Tew <h ST T 3 R s7odhe et g1 Freferfiad #f & -8 ad Remu s 0
(A) SIS T @I 3 &1 o TRTShIHA STaX-HHE |THTIS Hefdli b1 e < |

(B) WRTISHH # et OEl o foIg a9 # 5o amH IR § |

(C) T wmTiSTes | ST TaTshe 3 TaTIshHa TSR STTe! 5 S7ot feerfa o sTqem e € |

(D) et 3R ix-srieamet samarfet o st sraia ammTeres STaHTars ot smenia € |

o R e Rt § & W ST -

(1) e (A), (B) 3R (D)

(2) e (A) 3R (C)

(3) (A), (B), (C) 3R (D)

(4) Fd (A), (C) 3R (D)

STTfer e sl sht sHT T 3 o Frffead 3 & w98 frgia om frg < § 2
(A) ¥

(B) faame

(C) SIS | T

(D)

e fow e o o & WY I -

(1) e (A), (B) 3R (D)

(2) A (A), (B) 3R ()

(3) (A), (B), (C) 3R (D)

(4) = (B), (C) R (D)

T Ferermer 3 ST frehre bt S ST R & 2

(A) I & TS G ST AT 8 b T | o ST &= o forehme o g T8 §9 9 3= hiad I8
gl

(B) 7E& I H &S 1Y, @M I @M 515 718 off |

(C) STeA-forega wefar TorTfire st o foTe SrTfeaféra shi 3ot M & siateret ot fear m o |

(D) S Torehrdi = q@il =ht shiwret 0 SIS shi eATwTieret foha |

A fow T foreped o & WY ST -

(1) (A), (B), (C) 3R (D)

(2) %= (A), (C) 3R (D)

(3) A (A), (B) 3N (C)

(4) %9 (B), (C) ¥R (D)
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10.

11.

Which of the following statements are true about stereotypes ?

(A) Stereotypes are often applied to ethnic and racial groups.

(B) Stereotypes fix whole groups into single entity.

(C) Stereotypes refuse to recognise the variation across individuals.
(D) Stereotypes are partly colonial constructs.

Choose the correct answer from the options given below :
(1) (A), (B) and (D) only
(2) (A), (B)and (C) only
(3) (A), (B), (C) and (D)
(4) (B), (C)and (D) only

In every society, some individuals have a greater share of valued resources — money, property, education,
prestige etc., — than others. These social resources can be divided into different forms of capital. Identify
them from the following.

(A) Economic capital

(B) Cultural capital

(C) Social capital

(D) Educational capital

Choose the correct answer from the options given below :

(1) (A), (B) and (D) only (2) (A), (B), (C) and (D)

(3) (A), (C)and (D) only (4) (B), (C) and (D) only

In which year did the first Backward Classes Commission headed by Kaka Kalelkar submit its report ?
(1) 1956 (2) 1953

(3) 1950 (4) 1958

Which of the following arguments are correct about tribes in India ?

(A) Adivasis were always the oppressed group, as they are now.

(B) Tribes were absorbed in Hindu society through Sanskritisation.

(C) Tribes occupied a special trade niche, trading forest produce, salt and elephants.

(D) Adivasis often exercised dominance over the plains people through their capacity to raid them.

Choose the correct answer from the options given below :
(1) (A), (B)and (D) only
(2) (B), (C) and (D) only
(3) (A), (B), (C) and (D)
4) (A), (C) and (D) only
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8. il f & H9-Y e wfeat IR we ¥ 9
(A) Ffeat ST ST ST Tl TE! o A 8 € |
(B) Ffeat QL TE I Tk 318 H feord oea € |
(C) ®feat saferar § R=ar T Te=- § SR Hdl & |
(D) ®igat if3res &q & hafafies dwemm € |
e fow T fersedt 3 @ W A -
(1) hee (A), (B) 3R (D)
(2) e (A), (B) 3R (C)
(3) (A), (B), (C) 3R (D)
(4) e (B), (C) A (D)
9. e WIS H, T SATHAT o UTE GO o1 e H Heda weret — o, gaf, e, wfasr snfs @ stfres fewm
BIAT R | S TTforeh SeTeT Rt dSft o ferfir wat & ferfSra foram S weRan | Freforiad 8§ & St veem R |

(A) STefh gsit

(B) wiEhfdeh Isit

(C) @IS it

(D) ferss Isft

= fow o et & v S -

(1) %= (A), (B) 31 (D) 2) (A), (B), (C) 3R (D)

(3) e (A), (C) 3R (D) (4) %9 (B), (C) 3R (D)
10. T HITAS hl FEIEAT H ToW {4 a7t ST F forer I # 7o+t fdtd e <At off 2

(1) 1956 (2) 1953

(3) 1950 (4) 1958

1. TG & ST 3 s & Preferfad § & #i-8 a8 ad § 9
(A) STfcaTdt gHRm Scdifed aHE o, ST foh F 31 3 |
(B) EEFATeHL0T o HTE2H H SFfTicri <h1 e wrst o Stie foherm T |
(C) SSTIE! = 9 3T, TH T ST ohT SATIR Ll §Y T FIIT SATIT ST O Tl BT fofaT |
(D) AT GTET ST sht SO &7 o HTEH § STHEL HIHT T 9T Tvcd ST hid o |
e fow T e & W S -
(1) hee (A), (B) 3R (D)
(2) e (B), (C) I (D)
(3) (A), (B), (C) 3R (D)
(4) e (A), (C) 3R (D)

SPACE FOR ROUGH WORK / T ST < fetu stirg



326 EH/D (8)

12.

13.

14.

15.

16.

What was the opinion of Dr. B.R. Ambedkar about local self-government during the drafting of the
Constitution ?

(1) He believed that local elites and upper castes would exploit the downtrodden masses further.

(2) He thought that local self-government will empower the downtrodden masses.

(3) He believed that local self-government will ensure equal representation of all social groups.

(4) He believed that local self-government will lead to economic prosperity.

Which of the following is not an example of community identity ?
(1) Membership of family

(2) Membership of religious group

(3) Membership of a professional group

(4) Membership of caste group

Which of the following Articles of the Constitution of India, provides for the Right of Minorities to
establish and administer educational institutions of their own and that the State shall not discriminate in
granting aid to such educational institutions ?

(1) Article 21 (2) Article 29

(3) Article 30 (4) Article 25

Which of the following statements about Communalism are correct ?

(A) Communal means something related to a community.

(B) Communalism is about religion, not politics.

(C) A devout believer may or may not be communal.

(D) Communalism results in constructing identity of large and diverse groups as singular and
homogeneous.

Choose the correct answer from the options given below :

(1) (A), (B) and (D) only (2) (A), (B) and (C) only

(3) (A), (C) and (D) only (4) (B), (C) and (D) only

On account of which of the following identity markers, do people often face discrimination and exclusion ?
(A) Gender

(B) Ethnicity

(C) Disability

(D) Caste

Choose the correct answer from the options given below :

(1) (A), (C)and (D) only (2) (A), (B) and (D) only
(3) (A), (B), (C) and (D) (4 (B), (C) and (D) only
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12.

13.

14.

15.

16.

G o fmior & SR T Temes o TR ° 2. st TR, STregaRt shi I ot 2

(1) 3T TAT o o STy STferetTd-ant 3fR S STfrat yaaferd ST st 37T 31feren ST it |
(2) SRIM G o TAT TTTe Ueg old SaT bl HT<h ST |

(3) 3T HIAAT o7 foh ST TRITe Sl |THTISTeh |1 ol §HT Wi Tered giafam s |

(4) TR AT 9T o ST TaRTTe © STTieh a9l ST |

frefrfiad & F17-81 AT Je= 1 U 3aTetol 78 © ?
(1) IRER T gEerar

(2) @fHe: |vE i wawrd

(3) URIER &g T HEEIAT

(4) i EHE 6 gEwd

TR o Gl % Freafafed s7=dl § & FH-91, STeuEETen H1 310 T % eforh weermt Y T 3R
TTTEH oh AT hT T T & 3T IS foh T UH SreqioTeh HEATHT shl HRRIAT o4 H WeWTa g il 2

(1) ¥g=sa 2l (2) 3T 29
(3) ¥T=aE 30 (4) 3TT=TE 25

ATESRTRrehdT o o feferiiga § & -8 wad a8 2

(A) HTSETHIe 1 379 @ forelt aver & Heiferd e |

(B) WIYETRIehdT & & Heiferd &, TeHifd & 72 |

(C) Ueh yHfE foramet HiveTies 2 off Trehar € 3 e oft |

(D) WTFYETIIERAT & TRUTHEEY 5 S foforg 9aet i Te= s SR S & &9 H 8 2 |

e fow e e & WY S -

(1) had (A), (B) 3R (D) (2) % (A), (B) 3 (C)
(3) e (A), (C) 3R (D) (4) %9 (B), (C) 3R (D)
famferfiaa § @ fore ye=m fages & T, AR hT STeRER WeWTd 37 SITEShR ohT FTHAT T TSdT © 2
(A) T (ster)

(B) STdrrar

(C) fapetimar

(D) St

Fr e T fersedt @ W A -

(1) = (A), (C) 3R (D) (2) e (A), (B) 3R (D)
(3) (A), (B), (C) 3R (D) (4) e (B), (C) 3R (D)
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17.

18.

19.

20.

Which of the following are true about Gram Sabha in Panchayati Raj ?

(A) The Gram Sabha collects central taxes from the village.

(B) The Gram Sabha consists of the entire body of citizens in a village.
(C) The Gram Sabha is the general body that elects the local government.

(D) The Gram Sabha participates in village-level development activities.

Choose the correct answer from the options given below :
(1) (A), (B)and (D) only
(2) (A), (B) and (C) only
(3) (A), (B), (C) and (D)
(4) (B), (C) and (D) only

How did the Supreme Court enhance Fundamental Rights, particularly relating to the Right to Life under
Article 21 ?

(1) By restricting individual liberty.

(2) By narrowing the scope of Article 20.

(3) By expanding the interpretation to include various aspects of a quality life.

(4) By expanding the scope of Fundamental Duties.

Who amongst the following Sociologists remarked that tribal institutions in themselves need not necessarily
be democratic in their structure and functioning ?

(1) Tiplut Nongbri (2) Virginius Xaxa

(3) Verrier Elwin (4) G.S. Ghurye

Match List-I with List-I1I.

List-1 List-1I
(Dominant Caste) (Region)
(A) Rajputs () Andhra Pradesh
(B) Lingayats (I)  Punjab
(C) Jat Sikhs (III)  Karnataka
(D) Kammas (IV)  Uttar Pradesh

Choose the correct answer from the options given below :

(1) (A)-(1V), (B) - (1D, (C) - (ID), (D) - (1)
(2) (A)- (), (B) - (1), (C) - (D), (D) - (IV)
3) (A)-D,B)-1V), (C) - (1), (D) - (1)
@ (A)- D, (B) - (IV), (C) - (IID), (D) - (1)
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17.

18.

19.

20.

Gl U § U T o IR e # @ A g € 2

(A) TTH 9T TS H SR L UHA L ¢ |

(B) T BT H 71T ok ATIERT oh1 T forehmer st S € |

(C) TITH BT T |1 FohTaT & ST ST SR 3T <19 el & |
(D) T8 G Il ferprar mifaferferat & amr ot 2 |

Fr few e forsredt § & W SO -

(1) e (A), (B) 3R (D)

(2) Fd (A), (B) 3R (C)

(3) (A), (B), (C) 3R (D)

(4) *a (B), (C) ¥R (D)

el AT  3FTE 21 6 T (I & U Sfia o SRR & Heiferd Hifoteh TR shl S ST 2

(1) SARET TarcraT shl Efera ik |

(2) FTTE 20 o IR I FH F |

(3) TToTarTul Sfie o farfir weeratt Rl RMTfHET s o6 foTw e =t foream it |

(4) Hiferen el o ST T foredT ik |

et aarsrnfEt & & e fevaofy it for snfeardt deemd ot wtemT 3R foramshay & <ishdifes &
1 I ST9THh T 8 2

(1) fouea Jimsft ) TS arar
(3) AR ufeam 4) St.oa =t
Feft-1 & -1 1 forer shife
1 I
(THTAIITAT ATE) (&)
(A) TSYd 1) AT
(B) feimmaa I  de=
(C) o ()  FATeF
(D) e (V) WIS
=t faw e forepedt # € wE ST -

(1) (A)- V), (B) - (1), (C) - (D), (D) - (1)
(2) (A)- (), (B) - (I), (C) - (ID), (D) - (IV)
3) (A)- D, (B) - (1V), (C) - (1), (D) - (1)
@) (A)- D, (B) - (IV), (C) - (IID), (D) - (D)
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21. Which of the following festivals are related to agriculture ?
(A) Bihu
(B) Baisakhi
(C) Holi
(D) Pongal
Choose the correct answer from the options given below :
(1) (A), (B) and (D) only (2) (A), (B) and (C) only
(3) (A),(B), (C) and (D) (4) (B), (C) and (D) only

22.  Which of the following are the indicators of globalisation of agriculture ?
(A) Contract farming
(B) Increased dependence of farmers on fertilisers and pesticides
(C) Promotion of indigenous knowledge for agriculture
(D) Entry of multinationals into agricultural sector
Choose the correct answer from the options given below :
(1) (A), (B) and (C) only (2) (A), (B) and (D) only
(3) (A), (B), (C) and (D) (4) (B), (C) and (D) only

23.  Under which of the following systems is all work broken down into its smallest repetitive elements and
divided amongst the workers ?
(1) Binary System (2) Corporate System
(3) Flexi System (4) Scientific Management System
24. Match the concepts (List-I) with their respective descriptions (List-1I) :
List-1 List-I1
(Concepts) (Descriptions)

(A) Liberalisati D Economy based on information and
iberalisation
technology

(B) Transnational Corporations (I) ~ Mixing of global and local culture

IV)  Openin of the economy to the global
(D) Weightless Economy (IV) ~ Opening up y g

markets

Choose the correct answer from the options given below :
(1 (A)- D, B) - ID, (C) - (), (D) - AV)
(2) (A)-1V),(B) - (ID), (C) - (IID), (D) - (I)
(3) (A)-1V),(B) - (ID), (C) - (ID), (D) - (I)
(4 (A)- ), (B) - (IV), (©) - (D, (D) - (I)
SPACE FOR ROUGH WORK / T ST < fetu stirg
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21.  fefafad § @ #9-8 <er FY 9 Hefta § 2
(A) forg
(B) S@TEt
(C) =it
(D) diTet
e fow e & W S -
(1) e (A), (B) 3R (D) (2) & (A), (B) 3 (C)
(3) (A), (B), (C) 3R (D) (4) *ad (B), (C) 3R (D)
22. frferRed o & -8 iy 3 Jefieror & Hohda & 2
(A) s
(B) ST 3 Frererehi 0 Rrart <t st forefar
(C) Y o foTu Teeht I 1 ST & T
(D) Y &5 H SgUS st 1 Yot

et fow T forpedt 7 @ et I T -
(1) *ad (A), (B) 3R (C) (2) 3 (A), (B) 3 (D)
3) (A), (B), (C) 3R (D) (4) % (B), (C) 3R (D)

23.  T=fcafaa 9 @ form yomett o T'a, Guft et ont Ierd DI axal | forrisia foram STt 8 3T #fHeht o si= fawrisia
forar ST g 2

(1) fgmmead yomedt (2) e somett
(3) el JoTTet (4) AF TeieH Jorredt
24, FSUROT (F-T) T 37k Heiterd forareort (@reh-11) o @ e =

TEl-1 eI

(STTLRUTTY) (Feraro)
(A) ST () T SR SRNehT oF e steferaeen
(B) URASERT fem () Sfes SR T @8Rl 1 e

(I) % ST H SRl I W3l o1 IedTad i

(C) TATRATEIAIM (FETYTHIHTIT) areh s
(D) yTfeq srdeaeen (V) 3ftes TSR & fore srefeareen st WiaHT

i fa o forepedt & & Wt ST -
(1) (A)- (@), (B)-(ID), (C) - (11D, (D) - (IV)
(2) (A)-1AV),(B)- 1D, (C) - I, (D) - (D
(3) (A)-(1V), (B) - (D), (C) - (II), (D) - (1)
4) (A)-dID, (B) - AV),(C) - (D), (D) - (ID)
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25.

26.

27.

28.

(14)

Who among the following is credited with the invention of the printing press ?

(1) Leonardo da Vinci
(2) Johann Gutenberg
(3) Galileo Galilei

(4) Isaac Newton

Match the following individuals with their contributions to Indian media.

List-I List-11

(Individuals) (Contributions)
(A) Raja Rammohun Roy ) Started the Bombay Samachar

. (I)  Encourged media to act as a watchdog of
(B) Fardoonji Murzban
democracy

(C) Ishwar Chandra Vidyasagar (IIT) ~ Started the Shome Prakash
(D) Jawaharlal Nehru (IV) Started the Sambad-Kaumudi

Choose the correct answer from the options given below :

(1 A)- D, ®) - I, (C) - (1D, (D) - (IV)
2 (A)- (D, (B) - 1), (C) - (D), (D) - (IV)
() (A)-(1V), (B) - D), (C) - (D), (D) - (1)
@) (A)-AV), (B) - (D, (C) - (I, (D) - (1)

The Chipko Movement is an example of
(1) Peasant Movement

(2) Workers Movement

(3) Ecological Movement

(4) Dalit Movement

In South Bihar, the locals have a common resentment against migrant traders and moneylenders. What are

these migrant groups known as ?
(1) Nakarattars

(2) Adivasis

(3) Dikus

(4) Oraons
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25.

26.

27.

28.

(15)

Freferfaa o @ forar i S 3 smfaswr =1 g feam smar 2 2
(1) formret et fo=ht
(2) ST Teet
(3) fcafean fferet
(4) ATSSHR A
I Wifgam & ek e o aryr faeferfaa safrat 1 firem |

Teit-1 Heit-11

(=afeR) (FFTE)
(A) TSI THHTRA 3 () STl ST T e ol
o (1) %mﬁm%m%mﬁmm%
(C) 3= formamr (L) 7T SRS 3h 3T hT
(D) AT 1E& (IV)  EFIE-hid i YeTd
e fa o forepedt o & vt ST A -

(1) (A)- D, (B) - D), (C) - (), (D) - (IV)
2) (A)- D, (B)- 1), (C) - (I1), (D) - (IV)
() (A)-(1V), (B) - (1), (C) - (D), (D) - (IIT)
4 (A)-1V), (B) - (D), (C) - (1), (D) - (IN)

FIUehT SATETe Tk 3ATE ]
(1) Toram 3tige =t

(2) TG o AT i
(3) uTffRefaes srigre &1
(4) sfed stTiee 1

gfeqor forem &, Ty AT H Jaret AT ST QTeshi o Raeis THET ST3hIT & | 37 JaTe! SHel i e

EIERCESIEIRS R
(1) THER

(2) srfcart
3) e

(4) AN
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29. According to one of the theories of social movements, social conflict arises when a social group feels that it
is worse off than others around it. What is this theory known as ?
(1) Theory of Relative Deprivation
(2) Theory of Reformative Action
(3) Theory of Redemptive Action
(4) Theory of Resource Mobilization

30. Which of the following characteristics are associated with the Women's Movement of post-1947 ?
(A) Involvement of women in nation building task
(B) Growth of autonomous women’s movement
(C) All women suffer discrimination at uniform level
(D) Change in ideology and organizational strategy
Choose the correct answer from the options given below :
(1) (A), (B) and (D) only
(2) (A), (B) and (C) only
(3) (A), (B), (C) and (D)
(4) (B), (C) and (D) only

31. Match List-I with List-II :

List-1 List-11
(Name of Sociologists) (Work)
(A) Nicholas Dirks D Family, Kinship and Marriage in India

(B) Louis D ¢ (I)  Homo-Hierarchicus-The Caste System and its
ouis Dumon
Implications

(IIT)  Castes of Mind : Colonialism and the Making of
Modern India

(IV) The Reproduction of Inequality : Occupation,

(C) Patricia Uberoi

(D) Andre Beteille

Caste and Family

Choose the correct answer from the options given below :
1) (A)-dD, (B) - @), (C) - AV), (D) - (1)
2) (A)-D, B) -, (C) - AV), (D) - (II)
(3) (A)- (1), (B) - D), (C) - (I), (D) - (IV)
4 (A)-1V),(B) - D), (C) - (), (D) - (1)
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29. WIS SAEICHT o FAgidl § & Teh o STTHR, |1 o qel 3c0— BIT & S U TTHTISI 98 1 Tl &
o 78 370 STTAIT o 1= AN ohl ot H saa feufa 1 2 | 30 forgid ot forer w0 H ST STT@T 2 2

(1) | = =1 fagia
(2) geward fagra

(3) Ufcerrere fogia

(4) G Tfoefierar & fagia

30. HIRIT H & -8 eI 1947 o o1 % HigedT e IS & 2
(A) Trsg fmior sl o mfgetrsty it wrfier
(B) T Ui Tigler i forerma
(C) Gt HigeT=l ohl TH T UL WIS ohT |THHAT AT 9T &
(D) foremRemT 7T TeHTeHe WHifd § gitada
= fow o et @ v S -
(1) e (A), (B) 3R (D)
(2) Fd (A), (B) 3R (C)
3) (A), (B), (C) 3R (D)
(4) Fad (B), (C) ¥R (D)

31, EEA-1 9 Ge-11 1 e i

Teit-1 -1

(FETSTINTR o A1) (T)
(A) e s ()  Sieh, frafym de afer s dfean
(B) TEEAR (I)  BHI-BTRIRHE-3 e e U 320 gireateheo
(C) Uifsmn S (IlI) HRH AT AEE : PicA-ATSH U § HichT T HieH ghea
(D) s (Iv) T2 folieae 31 sgaaiore] ; SATRUTH, Fe U Hitret
e faw e forpedt & @t ST

(1 (A)- D, (B) - 1), (C) - AV), (D) - (1)
2 (A)- (D, ®B)- 1), (C) - V), (D) - (1)
(3) (A)-(), (B) - (D), (C) - (), (D) - (IV)
@) (A)-(1V), (B)- (D), (C) - (D, (D) - (1)
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32,

33.

34.

Match the following concepts (List-I) with their appropriate description (List-1I) :
List-1 List-1T
(Concepts) (Definition)

) Number of live births per 1000 women in the

(A) Fertility Rate . .
child bearing age group

(I) ~ Total number of live births that a hypothetical
(B) Total Fertility Rate woman would have during her entire reproductive
years

(IlT)  Total number of women who die in childbirth per

(C) Infant Mortality Rate . .
1000 live births

(IV)  Number of deaths of babies before the age of one

(D) Maternal Mortality Rate . .
year per 1000 live births

Choose the correct answer from the options given below :

1 (A)- @), (B)- D), (C) - (1), (D) - (IV)

) (A)- (D, (B)- I, (C) - (II), (D) - (AV)

(3) (A)- (@, (B)- 1D, (C) - (IV), (D) - (1)

4 (A)-dID), (B) - AV), (C) - (), (D) - (IT)

The statement "The changes brought about in Indian society and culture as a result of over 150 years of

British Rule, the term subsuming changes occurring at different levels...technology, institutions, ideology

and values" refers to the process of

Fill in the blank with the correct answer from the options given below.
(1) Sanskritisation (2) Colonisation

(3) Westernisation (4) Secularisation

In Begum Rokeya Sakhawat’s book ‘‘Sultana’s Dream’ we find the following excerpt, ‘“Where are the
men ?..., where they ought to be...we shut our men indoors...just as we are kept in the zenana ?”> What do
these lines describe ?

(1) Double standard imposed by male dominated society
(2) Comparison of work done by men and women in a male dominated society
(3) Reversal of roles of Gender

(4) Challenging patriarchy
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32.

33.

34.

frfcrfiae steramonsT (F=ht-1) i 3o U foreror (Feh-1T) o @rer firet o :

it-1 -1
(ITTUTTTY) (afesITam)
(A) TSFF R () = 9&1 & H Ag @ § A 1000
afgerst ut sfferd St it wen
(B) el IS & (any  Shfad SeAT 6 Fe g ST wieats
; TRAT T Ik X IS I o SR SRt
©) Bmrmere (1) i 1000 SAfad AT § S&a o SR HA
ST el et 1 et e
(D) W eI & (Iv)  ¥fd 1000 Sffeq ST # Tk a9 i Ag &
o T 7 fRTerett o He
it few T forereat # € wE ST -

(1 A)- D, B) - 1), (C) - (D), (D) - (IV)
2 (A)- (D, (B)- 1), (C) - (1), (D) - (IV)
3) (A)- D, ®B) -, (C) - AV), (D) - (1)
(4) (A)- D), (B) - (IV), (C) - (D, (D) - (D)

FHF "150 ¥ My ANt o oo I o qRUTTREEY IR 99 7R @%hid # @ e afedE, ot
STETehT, SeerTa, foramem S et § 81 aTet JRadi sl GHTed i aTel X1ee, forer Sfsham i wafifd sar
29

et fow T forsped # @ weT I T |
(1) Eehdietor (2) SuERETE
(3) ufsrieRTor (4) emfaefieRT

T FHAT TETEd 1 e gedds gt ¥ g frefafed st fiemar 2, oew &t § 2., e 3% e
TR, T TN TEW bl B H 51 oL &... ST &1 ST H W7 71T & 2" g ufeeat fofersht aoie et € 2

(1) T8 T4 GHTS g ST el AHES

(2) O T GHIS § Tou A AfErstl SR fohu 7 shraff shl et

(3) T st sfftrpraty =t Sete

(4) Torqer =l =T
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35. For which of the following social reasons is the city preferred over village ?
(A) Decline of common resources in villages
(B) Opportunity for earning cash income
(C) Sufficient work opportunity
(D) Relative Anonymity

Choose the correct answer from the options given below :
(1) (A), (B) and (D) only
(2) (B), (C) and (D) only
(3) (A), (B), (C) and (D)
4) (A), (C) and (D) only

36. Which of the following factors was not responsible for unification of India under Colonial rule ?
(1) Socio-Cultural (2) Economic
(3) Political (4) Administrative

37. Which of the following factors was not considered significant during industrialisation in independent
India ?
(1) Development of heavy and machine-making industries
(2) Expansion of the public sector
(3) Presence of a large cooperative sector
(4) Role of coastal cities for trading purpose

38. In which of the following States is Birhor tribe found ?
(1) Assam (2) Bihar
(3) Rajasthan (4) Nagaland

39. The term ‘‘prejudice’’ refers to

Fill in the blank with the correct answer from the options given below.
(1) Community identity

(2) Social inequality

(3) Pre-judgement

(4) Individual’s life chances

40. Which of the following leaders is not associated with AITUC ?
(1) M.N. Roy (2) S.A.Dange
(3) V.V.Giri (4) Jayprakash Narayan

SPACE FOR ROUGH WORK / T ST < fetu stirg



326 EH/D (21)
35. famfcifaa fort ammnforer st & wrex o1 ia 9 feres s € St 2 2

(A) TIiaT § AT GETEMAT ST HHT

(B) Tohe 3T I i T T

(C) T % TATH TTHL

(D) WUk ST

e fow e e o & WY S -

(1) hed (A), (B) 3R (D)

(2) e (B), (C) A (D)

(3) (A), (B), (C) 3R (D)

(4) e (A), (C) 3 (D)

36. f=fcifiad § @ Ha-ar e afafires e & d8d WA o Thishtor o fu e ) 78t o 2
(1) HTHTISR-Sehfah (2) erfelew
(3) TrSiHifden (4) TES

37. A IRA # e o SR Frfaiad § 8 fora ek i qewrut 7g 7 T o 2
(1) 9T TR G S aTet e o farehra
(2) HIESeh & T faa)
(3) Uk =S TEhHT & ot Sufkufa
(4) TR SR 3 fore aidter e 1 qftrr

38. fa=fcfiaa 9 @ form s 0 for@R St arg st @ 2
(1) /=9 () foer
(3) USEI= 4) EUIRES

39. "YAIUE" Teq ! Hahid AT g |
et fo T forspedl 7 @ @t ST gR ek v st it i |
(1) |ETRE qga™
(2) @TTeR forawar
(3) -Fl
(4) =afth & e & TaE

40. frfafigd 4 @ HH-a1 AdT QAR AL H. § g 77T © ?

(1) THT. ™ (2) TET B
(3) e, it (4) STIYRTST T
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Read the given passage carefully and answer the next five questions.

In many ways it was a major political change, namely, the collapse of the erstwhile socialist world that hastened
globalisation and also gave a specific economic and political approach to the economic policies that underpin
globalisation. These changes are often termed as neo-liberal economic measures. We have already seen what
concrete steps the liberalisation policy took in India. Broadly, these policies reflect a political vision of free
enterprise which believes that a free reign to market forces will be both efficient and fair. It is, therefore, critical
of both State regulation and State subsidies. The existing process of Globalisation in this sense does have a

political vision as much as an economic vision.

41. What does the term ‘liberalisation policy’ refer to in the given passage ?
(1) Regulation of State subsidies
(2) Regulation of market forces
(3) Regulation of social welfarism

(4) De-regulation of market forces

42. What is the central political vision reflected in the economic policies underpinning Globalisation ?
(1) Free enterprise
(2) State subsidies
(3) Centralised power
(4) State regulation

43. What is the economic measure that accompanied the collapse of the socialist world and the advent of
Globalisation ?
(1) Conservative measures
(2) Welfare measures
(3) Neo-liberal measures
(4) Protectionist measures

44. What major political change is highlighted in the passage ?
(1) Collapse of Welfare State
(2) Collapse of Capitalist State
(3) Collapse of Socialist State
(4) Collapse of trade protectionism

45. According to the passage, what is the political vision behind Globalisation ?
(1) It supports State regulation
(2) TItis critical of State regulation
(3) Itadvocates for Socialist State
(4) It advocates for State subsidies
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T o ufiedg @t e 8 UE AR oTTe Ui Wi R I |

IAYd GHISTETE] T4 1 faee” 3 giEat § Ueh g1 T aeh TRad o, fom syeettertor ot Sfsham st 3 ds 3
oo, e HESHRT i R o ATt STiies et o uia e fafime anfele o ueifos giver s &
TRIT | 3 TNEH ol ST A9-33RATET ST IR T ST € | T Teet I8 <8 ok © (o M H TR 3hi A1 o
3T AT 39 FEH IBTT T | HIE TR T, 3 et 7§ 7k e wefelt Twiiicres qaRiar siatsifer et € fe 78
foramer fopam <man @ for AT ot wiferert o Frafer e Freret we =TT B | sEfeTe e geefiaret ifa % sfta
T T SR Y T 3fie el wemrar (afoae) a1 Al € STreireT Fidl § | 39 372 H sreefisror i wdisar gfswn
4 TrSTifereh qrafia 3ot gt & foret fob srfelen quafafar |

41. TeuTTUi=se § SRl fifd seg Frar AL R 2
(1) TsT afcust = fema
(2) STSIR <t STfxR <At e
(3) TSI HeITUETE o 2T
(4) TSR St STfR=n ot fafaeme

42. ST sh Taiferd s ATt sAfeien Sifaalt o - sl Terfifss geafian (3f) ufteferd gt @ 2
(1) ¥ 3eH
(2) T<T afeust
(3) ki IR
4) TsF ot
43.  EHATSTETEY o o O T HSTHT o STTHA o 1o 3T AT AT ST 1 & 2
(1) ®leard s
(2) HAURRT U
(3) TI-ISHATE U™
(4) ETEIUETE U
44. ulese ¥ forg 98 Terifash afterdT o ST St T R 2
(1) HIARRT TST T o
(2) YSftardt T 1 g
(3) GHTSIETE! TS T Ia-
(4) STIR GIIUTETE hT I
45. =R % STTEW, HSTTHT o e oht Torifeh qLafidr 1 8 2
(1) T fafeme & fore g
(2) TSt it et
(3) HSETE TS hi FehTerd
(4) TST HiewS % forg srhrera
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Read the given passage carefully and answer the next five questions.

My grandfather, like most Nagas who had come into close contact with Europeans, was convinced that education
was the only way to get ahead in life. He aspired for his children the kind of life he had seen being lived by the
British administration and missionaries. He sent my mother away to school, first in neighbouring Assam, then as
far as Shimla. My mother was encouraged by one of the more educated men in her village who told her that with
an education in these new times, she could even become like the Indian lady who spoke before the world :
Vijaylaxmi Pandit, who represented India at the UN. My father by dint of his own intelligence and hard work, put
himself through the local mission school and college in Shillong. All Nagas of my parents' generation who were
able to, chose to get educated in English. For them, it was more than a gateway to upward mobility. In a region
where tribes that live no more than 20 kms apart speak completely different languages, it was a medium through
which they could communicate amongst themselves and with the world. They became the voice of their people
and made English the official state language.

46. Which of the following isthe main reason for opening up of new opportunities for the people of

North-East ?
(1) Urbanization (2) Sanskritization
(3) Western education (4) Modernization

47. According to the passage, which of the following is a gateway to upward mobility ?
(1) Politics (2) Education
(3) Cultural change (4) Social change

48. Name the process through which the movement of individuals takes place from their existing status to
improved status.
(1) Sanskritization (2) Westernization
(3) Assimilation (4) Upward Mobility

49. Who among the following represented India at the UN ?
(1) Jawaharlal Nehru (2) Vijaylakshmi Pandit
(3) British Missionaries (4) Naga leaders

50. Which of the following is the reason for improved communication among the different factions of the Naga
tribes ?
(1) Use of English language
(2) Missionary help
(3) Naga leaders
(4) Working together in British administration
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fou o uftee @t £aT A U I 1T uie UHi & IS |

T 3T, S S AT h1 A & UL o Eeh § 37T o, o I8 AAd o fop fRvear & & Sfte o 1R et S wehan © |
IR AU T2 o ToTT ST 21 Sfiae =mer €T S fsifewr gwmeeht SR fiemiat 1 sfia 2@ | S A4 |°f 6 uge
I o T STt Tohed H U g FRrerett ISiT, arfeh o fRrfeqa €1 S | 36t H7 =61 71ier o Uk f2rfeqer SArewt = s fo w4l A7
UG-feT@eht SEft €1 ST o Tehdl © TSTe | g o Are 7oA Wiy fem o — 78 A oft forstreredt dfed, ufed
TeE o o, TSeai T g wer & W o sfaffe form o | w9 fr 3§ et o v 3 e i e faam # o
ST TTew fora o | 7o+ Herrell S[fg o HRoT & a8 RIS H et shi IS L A1 | W ATT-FdT 31 diet & aa At
3, ST || o, SIS 3reTT Rl e SR | 39 AT 98 Uk YR @ Frea T forente oht T o | 29U Y e Y zm A
o, ST Te et SIS § Sedieh 20 Fohetieiet o ueh Tt wrom siteft STt 2, oy srorsaft S ey Ao # oo g o
T STIST | 376 I Ueh WTNT o HTEAH § aTd o Tehd 9 ST =i 1 STEH-9eH o Tehd O | 3 frfara i 1o i st
SATATST 9 T AT a1 SAUSIT ohl TSTehIT TRITEhHI HTST ST |

46. AL % AN ok 7T 7T TG @I T & HI0T ffofiad § § HiH-a1 8 2

(1) e (2) HERdERT
(3) ufsyt fEre (4) FYFHIRT
47. ufeeRe % TR, Frafafed § & H-a1 S A SR nfrefierdr w e gr e 2
(1) TsHita (2) farem
(3) WiEaRde qiEd (4) TR gitEd=
48. 38 TRAT T AT TSy fSTeeh ATeAm & TR shT ekt wierer feurfa & et Rufr § duem S 2 |
(1) GEhdTHRTT (2) ufdreRr
(3)  SATCHHTCHIIT (4) FULHT AR faeiierar
49. THTARIT H & fore Sk eg H Wi o1 Taffereet foram 2
(1) AT JE& ) fosaere ufsa
(3) oo femt (4) T AT
50. frfafaad 3 & wF-ar A St & fafie 72t o e Sea SE H ER 8 2
(1) ST TS T IFANT FHHAT
(2) e e
(3) ATIHAT

(4) forfesr yemem & we wry & w1
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